Eoab SN = 1Y/
L -+ d}&%m‘é‘\

TH4 | R6KEL s % - BRGA HETE (VTR FHENX Sy H R HMERT -
THXSy HRERE
THX Sy - AR - R - A Bikk HAL e (AiflED) e (4E) KR e
H K ERE
= 1
Fii%E T
= 1
BT T
= 1
SRR GO B AR 7 A7 7 v MRRERR, BHEEIE 5
Omm ) .
F ARG TR AL B
t 0.01
S RlSEHICRRAI 72770 MR, BRAERRIS
o m2 1, 020
FRTE AR - R A
m3 51
RISy RFER T AT 7V ik
m3 51
Rk iE
m2 1, 020
)= PR : 45 (2. 3084 _E2. 40t/m3%
i), ARSI | AR T A2y (13),
&4 50mm, SR E ¢ 3. OmiH m2 1,020
[ZZEHD
= 1
- IR




=g 2 N = I/
-1—3§Iégt£EuVQ

TH4 | R6KEL s % - BRGA HETE (VTR FHENX Sy T PRAERE - 1
THXSy HRERE
THX Sy - AR - R - A Bikk HAL e (AiflED) e (4E) KR e
%A L
= 1
TAN=7" FABIEER : 45 FE (i [ oD £ 25 2. 10t/
m3) , B4 EHAE R EE Y 23 (13), ik
Fitf:125cm2LL 1 140cm2 A m 80
DR 1
= 1
DI T
= 1
Vo= X R Wi T 71X 5y iR AT B, B - 11
FEX Sy FEHR 15em, A& J2 1. Smm,
PEAKPEAHAS L m 540
LG an
= 1
A E PR L
= 1
S IE SR A B
AR 14
[ERCHI: 2 ¢
= 1
B ER
= 1
Limfa (FGk L)
= 1
-2 - T I




THHERIER (A01)

o2

TH4 | R6KEL s % - BRGA HETE (VTR FHEX S H R HMERT -
THXSy HRERE
THX Sy - AR - R - A Bikk HAL Gl e (4E) KR e
il T
= 1
Bl
= 1
Tl
= 1
— R A
= 1
TEATAK
= 1
TR K Ol 5 1 B A
= 1
THEG
= 1

=
N
Jjm



